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Surface area
of one large cube
» 5400 um?2



© |"'305;m
Area |
30 x 30 =900 area of a face (square) A -
900 x 6 = 5400 total surface area of the big cube o oneage cube
Volume

Volume =30x 30 x 30 =2700

A/V= 5400/ 27000 =0.2
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Surface area Total surface area
of one large cube of 27 small cubes
» 5400 um? » 16,200 um2




R% h eae o [%e)
10 x 10 = 100 area of a face (square) 1°§mf> O‘T OT QL
100 x 6 = 600 total surface area of each small cube l Q\:} OT O\J'“tﬁl
600 x 27= 16200 total surface of 27 small cubes \3;—\—6\—3_‘0
S/V= 16200/27000= 0.6 I;:%;Z,.‘?‘:E:{“ﬁ:

Ko asea 4y S 58 sl GiaSa a4y rda S
16200/5400 = 3

Conclusion: The area of the small cubes is 3 times the area of the big cube
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Eyepiece lens

Objective lenses
Stage clip

Stage
Coarse-focus knob

Fine-focus knob

Light source

animal cell
(_3«——bacterium
| S |
10 um *<———Virus

A Figure 2.9 A bacterium is much smaller than
an animal cell. The relative size of a virus is
also shown.
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How do we find the overall magnification of a light
microscope?

- Eyepiece

Objective lens

Eyepiece Objective Overall
‘ Magnification | Magnification Magnification
X10 X4 40
X10 X10 100
X10 X40 400
X10 X100 1000

0"
g4
.

PRt R e e e b e

QS b (S qwds s’l""j));’ )9 ‘)W@Li‘f)ﬁ >
e e

s s e
190 (0 e ) O jgan (oledS ) e
Y. 6’“"be9’>9 w‘\‘o)‘}o&wwd.cu.aw)f

10 x 40 = 400

magnification = eyepiece x objective lens

khoobdel 2021
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The magpnification of the cell is calculated using this formula.

magnification =

width of cell in diagram

khoobdel 2021

actual width of cell

animal cell
(3——bacterium
L 1
10 um e<——Virus

A Figure 2.9 A bacterium is much smaller than
an animal cell. The relative size of a virus is
also shown.
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Eyepiece lens

Objective lenses
Stage clip

Stage
Coarse-focus knob

Fine-focus knob
Light source
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magnification = eyepiece x objective lens

width of cell in diagram

magnification = :
actual width of cell

M= 10 x 40 = 400

4 cm =40 000 micron

400 = 40 000
40000

400
=100
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White Blood Cells
& Platelets (4%)

Red Blood Cells (41%)
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SesS A loeo
> 1cm=10 mm 1cm3 =1000 mm?
> 1dm =100 mm 1dm?3 =1000000 mm?3 or 10° mm?3 =1 liter
> 1mm3=5x10° RBC 1dm3 =5x10°x 10° RBC =5x 10 RBC
4dm3=4x5x10"” RBC =20x 10'% RBC
= 2x10'3 RBC
= 20 000 000 000 000
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